JD’s Assessment Test

Two cars A and B are at the same point at t=0. B travels with constant velocity and A travels with constant acceleration. Their velocity vs. time graph is given below. After how many meters they become together?
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 2. 

Velocity of the river with respect to ground is 2m/s to the east. Width of the river is 80m. One boat starts its motion on this river at point A with a velocity shown in the figure below. Find the time of the motion and horizontal distance between the arrival point and point A.
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3. 

A river boat in a river having constant velocity travels 120m distance from point A to B in 20 s and turns back from B to A in 12 s. In this scenario, if the river had no velocity, how long would the trip have taken?
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4. 

A hot- air balloon having initial velocity v0 rises. Stone dropped from this balloon, when it is 135 m height, hits the ground after 9 s. Find the velocity of the balloon.
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 5.

 Look at the given picture below. Object K does free fall motion and object B thrown upward at the same time. They collide after 2s. Find the initial velocity of object B. (g=10m/s2)
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6.

An object does free fall and it falls 60m distance during last 2 seconds of its motion. Find the height it is dropped.
